

## REVISIT OF IDENTITIES FOR DAEHEE NUMBERS ARISING FROM NONLINEAR DIFFERENTIAL EQUATIONS

GWAN-WOO JANG AND TAEKYUN KIM

ABSTRACT. Recently, Kwon-Kim-Seo introduced some interesting identities of Daehee numbers arising from differential equation. In this paper, we consider the inverse problem for the some identities of Daehee numbers which are derived from differential equations in [6].

### 1. Introduction

The Bernoulli numbers are defined by the generating function to be

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}, \quad (\text{see [1 - 7]}). \quad (1.1)$$

By replacing  $t$  by  $\log(1 + t)$  in (1.1), we get

$$\begin{aligned} \frac{\log(1 + t)}{t} &= \sum_{m=0}^{\infty} B_m \frac{1}{m!} (\log(1 + t))^m \\ &= \sum_{m=0}^{\infty} B_m \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n S_1(n, m) B_m \right) \frac{t^n}{n!}, \end{aligned} \quad (1.2)$$

where  $S_1(n, m)$  is the stirling number of the first kind.

As is well known, Daehee numbers are defined by

$$D_n = \sum_{m=0}^n S_1(n, m) B_m, \quad (n \geq 0). \quad (1.3)$$

---

2010 *Mathematics Subject Classification.* 11B68;11S80.

*Key words and phrases.* Daehee numbers, Differential equations.

From (1.2) and (1.3), we note that the generating function of Daehee numbers is given by

$$\frac{\log(1+t)}{t} = \sum_{n=0}^{\infty} D_n \frac{t^n}{n!}, \quad (\text{see [2]}). \tag{1.4}$$

The Daehee polynomials are also defined by the generating function to be

$$\frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}. \tag{1.5}$$

Thus, by (1.4) and (1.5), we easily get

$$D_n(x) = \sum_{l=0}^n \binom{n}{l} (x)_l D_{n-l}, \quad (n \geq 0), \tag{1.6}$$

where  $(x)_0 = 1, (x)_n = x(x-1) \cdots (x-n+1), (n \geq 1)$ .

From (1.4), we have

$$\sum_{n=0}^{\infty} D_n \frac{(e^t - 1)^n}{n!} = \frac{t}{e^t - 1} = \sum_{m=0}^{\infty} B_m \frac{t^m}{m!}. \tag{1.7}$$

It is not difficult to show that

$$\begin{aligned} \sum_{n=0}^{\infty} D_n \frac{1}{n!} (e^t - 1)^n &= \sum_{n=0}^{\infty} D_n \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left( \sum_{n=0}^m D_n S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \tag{1.8}$$

By (1.7) and (1.8), we get

$$B_m = \sum_{n=0}^m D_n S_2(m, n), \quad (m \geq 0),$$

where  $S_2(m, n)$  is the stirling number of the second kind.

Recently, Kwon-Kim-Seo introduced the following differential equation (see [6]) :

$$\left(\frac{d}{dt}\right)^N \left(\frac{\log(1+t)}{t} \cdot t\right) = \left(\frac{d}{dt}\right)^N \log(1+t) = \sum_{m=0}^{\infty} (m+N) D_{m+N-1} \frac{t^m}{m!}. \tag{1.9}$$

For  $r \in \mathbb{N}$ , the higher-order Daehee numbers are defined by the generating function to be

$$\left(\frac{\log(1+t)}{t}\right)^r = \sum_{n=0}^{\infty} D_n^{(r)} \frac{t^n}{n!}, \quad (\text{see [2]}).$$

In this paper, with the viewpoint of the inverse problem of (1.9), we derive some new identities of Daehee numbers arising from nonlinear differential equation.

**2. Some identities of Daehee numbers**

Let

$$F = F(t) = \frac{1}{e^{\log(1+t)} - 1}. \tag{2.1}$$

Then, by (2.1), we get

$$\begin{aligned} F^{(1)} &= \frac{d}{dt} F(t) = - \left( \frac{1}{e^{\log(1+t)} - 1} \right)^2 \left( \frac{e^{\log(1+t)}}{1+t} \right) \\ &= - \frac{1}{1+t} (F + F^2). \end{aligned} \tag{2.2}$$

From(2.2), we have

$$(1+t)F^{(1)} = -(F + F^2), \tag{2.3}$$

and

$$F^2 = -F - (1+t)F^{(1)}. \tag{2.4}$$

Let us take the derivative on the both sides of (2.4). Then we have

$$2FF^{(1)} = -F^{(1)} - F^{(1)} - (1+t)F^{(2)} = -2F^{(1)} - (1+t)F^{(2)}. \tag{2.5}$$

Thus, by multiply (1+t) on the both sides of (2.5), we get

$$2F(1+t)F^{(1)} = -2F^{(1)}(1+t) - (1+t)^2F^{(2)}, \tag{2.6}$$

and

$$-2F(F + F^2) = -2(1+t)F^{(1)} - (1+t)^2F^{(2)}. \tag{2.7}$$

Thus, by(2.7), we get

$$\begin{aligned} 2F^3 &= -2F^2 + (-1)^22(1+t)F^{(1)} + (-1)^2(1+t)^2F^{(2)} \\ &= (-1)^22F + (-1)^24(1+t)F^{(1)} + (-1)^2(1+t)^2F^{(2)}. \end{aligned} \tag{2.8}$$

Taking derivative on the both sides of (2.8), we have

$$\begin{aligned} 3!F^2F^{(1)} &= (-1)^22F^{(1)} + (-1)^24F^{(1)} + (-1)^24(1+t)F^{(2)} \\ &\quad + 2(-1)^2(1+t)F^{(2)} + (-1)^2(1+t)^2F^{(3)} \\ &= (-1)^26F^{(1)} + (-1)^26(1+t)F^{(2)} + (-1)^2(1+t)^2F^{(3)}, \end{aligned} \tag{2.9}$$

where  $\left(\frac{d}{dt}\right)^N F = \left(\frac{d}{dt}\right)^N F(t) = F^{(N)}$ , ( $N \in \mathbb{N}$ ).

Multiply  $(1+t)$  on the both sides of (2.9), we get

$$3!F^2(1+t)F^{(1)} = (-1)^2 6(1+t)F^{(1)} + (-1)^2 6(1+t)^2 F^{(2)} + (-1)^2 (1+t)^3 F^{(3)}. \quad (2.10)$$

Thus, by (2.3), we get

$$3!F^2(-1)(F + F^2) = (-1)^2 6(1+t)F^{(1)} + (-1)^2 6(1+t)^2 F^{(2)} + (-1)^2 (1+t)^3 F^{(3)}. \quad (2.11)$$

By (2.11), we get

$$\begin{aligned} 3!F^4 &= -6F^3 + (-1)^3 6(1+t)F^{(1)} + (-1)^3 6(1+t)^2 F^{(2)} + (-1)^3 (1+t)^3 F^{(3)} \\ &= -3((-1)^2 2F + (-1)^2 4(1+t)F^{(1)} + (-1)^2 (1+t)^2 F^{(2)}) \\ &\quad + (-1)^3 6(1+t)F^{(1)} + (-1)^3 6(1+t)^2 F^{(2)} + (-1)^3 (1+t)^3 F^{(3)} \\ &= (-1)^3 6F + (-1)^3 18(1+t)F^{(1)} + (-1)^3 9(1+t)^2 F^{(2)} + (-1)^3 (1+t)^3 F^{(3)}. \end{aligned} \quad (2.12)$$

Continuing this process, we can set

$$N!F^{N+1} = (-1)^N \sum_{k=0}^N a_k(N)(1+t)^k F^{(k)}, \quad (N \in \mathbb{N}), \quad (2.13)$$

where

$$F^{N+1} = \underbrace{F \times F \times \cdots \times F}_{N+1\text{-times}}, \quad F^{(k)} = \left(\frac{d}{dt}\right)^k F(t).$$

Let us take the derivative on the both sides of (2.13) with respect to  $t$ .

Then we have

$$(N+1)!F^N F^{(1)} = (-1)^N \sum_{k=0}^N a_k(N) \left( k(1+t)^{k-1} F^{(k)} + (1+t)^k F^{(k+1)} \right). \quad (2.14)$$

Thus, by (2.14), we get

$$\begin{aligned} &(N+1)!F^N(1+t)F^{(1)} \\ &= (-1)^N \sum_{k=0}^N a_k(N) \left\{ (k(1+t)^k F^{(k)} + (1+t)^{k+1} F^{(k+1)}) \right\}. \end{aligned} \quad (2.15)$$

From (2.3) and (2.15), we have

$$\begin{aligned} & (N+1)!F^N(F+F^2) \\ &= (-1)^{N+1} \sum_{k=0}^N a_k(N) (k(1+t)^k F^{(k)} + (1+t)^{k+1} F^{(k+1)}). \end{aligned} \quad (2.16)$$

By (2.13) and (2.16), we get

$$\begin{aligned} (N+1)!F^{N+2} &= (-1)^{N+1} \sum_{k=1}^N a_k(N) k(1+t)^k F^{(k)} \\ &+ (-1)^{N+1} \sum_{k=0}^N a_k(N) (1+t)^{k+1} F^{(k+1)} - (N+1)N!F^{N+1} \\ &= (-1)^{N+1} \sum_{k=1}^N a_k(N) k(1+t)^k F^{(k)} \\ &+ (-1)^{N+1} \sum_{k=1}^{N+1} a_{k-1}(N) (1+t)^k F^{(k)} \\ &+ (N+1)(-1)^{N+1} \sum_{k=0}^N a_k(N) (1+t)^k F^{(k)} \\ &= (-1)^{N+1} \sum_{k=1}^N (k+N+1)a_k(N) (1+t)^k F^{(k)} \\ &+ (-1)^{N+1} \sum_{k=1}^N a_{k-1}(N) (1+t)^k F^{(k)} \\ &+ (N+1)(-1)^{N+1} a_0(N)F + (-1)^{N+1} a_N(N) (1+t)^{N+1} F^{(N+1)} \\ &= (-1)^{N+1} \sum_{k=1}^N \left\{ (k+N+1)a_k(N) + a_{k-1}(N) \right\} (1+t)^k F^{(k)} \\ &+ (N+1)(-1)^{N+1} a_0(N)F + (-1)^{N+1} a_N(N) (1+t)^{N+1} F^{(N+1)}. \end{aligned} \quad (2.17)$$

By replacing  $N$  by  $N+1$  in (2.13), we get

$$(N+1)!F^{N+2} = (-1)^{N+1} \sum_{k=0}^{N+1} a_k(N+1) (1+t)^k F^{(k)}. \quad (2.18)$$

Comparing the coefficients on the both sides of (2.17) and (2.18), we have

$$a_0(N+1) = (N+1)a_0(N), \quad a_{N+1}(N+1) = a_N(N), \quad (2.19)$$

and

$$(N+1+k)a_k(N) + a_{k-1}(N) = a_k(N+1), \quad (1 \leq k \leq N). \quad (2.20)$$

From (2.4) and (2.13), we have

$$-F - (1+t)F^{(1)} = F^2 = -a_0(1)F - a_1(1)(1+t)F^{(1)}. \quad (2.21)$$

By (2.21), we get

$$a_0(1) = 1 \text{ and } a_1(1) = 1. \quad (2.22)$$

Thus, by (2.19), (2.22), we have

$$\begin{aligned} a_0(N+1) &= (N+1)a_0(N) = (N+1)Na_0(N-1) = \cdots = (N+1)N \cdots 2 \cdot a_0(1) \\ &= (N+1)N(N-1) \cdots 2 \cdot 1 = (N+1)!, \end{aligned} \quad (2.23)$$

and

$$a_{N+1}(N+1) = a_N(N) = a_{N-1}(N-1) = \cdots = a_1(1) = 1. \quad (2.24)$$

For  $1 \leq k \leq N$ , by (2.20), we have

$$\begin{aligned} a_k(N+1) &= (N+1+k)a_k(N) + a_{k-1}(N) \\ &= (N+1+k) \left\{ (N+k)a_k(N-1) + a_{k-1}(N-1) \right\} + a_{k-1}(N) \\ &= (N+1+k)(N+k)a_k(N-1) + (N+1+k)a_{k-1}(N-1) + a_{k-1}(N) \\ &= (N+1+k)(N+k) \left\{ (N-1+k)a_k(N-2) + a_{k-1}(N-2) \right\} \\ &\quad + (N+1+k)a_{k-1}(N-1) + a_{k-1}(N) \\ &= (N+1+k)_3 a_k(N-2) + (N+1+k)_2 a_{k-1}(N-2) \\ &\quad + (N+1+k)_1 a_{k-1}(N-1) + a_{k-1}(N) \end{aligned} \quad (2.25)$$

$$\begin{aligned}
 &= (N+1+k)_3 a_k(N-2) + \sum_{n=N-2}^N (N+1+k)_{N-n} a_{k-1}(n) \\
 &= \dots \\
 &= (N+1+k)_{N-k+1} a_k(k) + \sum_{n_1=k}^N (N+1+k)_{N-n_1} a_{k-1}(n_1) \quad (2.26) \\
 &= \sum_{n_1=k-1}^N (N+1+k)_{N-n_1} a_{k-1}(n_1).
 \end{aligned}$$

From (2.25), we note that

$$\begin{aligned}
 a_k(N+1) &= \sum_{n_1=k-1}^N (N+1+k)_{N-n_1} a_{k-1}(n_1) \\
 &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} (N+1+k)_{N-n_1} (n_1+k-1)_{n_1-1-n_2} a_{k-2}(n_2) \\
 &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} \sum_{n_3=k-3}^{n_2-1} (N+1+k)_{N-n_1} (n_1+k-1)_{n_1-1-n_2} \\
 &\quad \times (n_2+k-2)_{n_2-1-n_3} a_{k-3}(n_3) \\
 &= \dots \\
 &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} \dots \sum_{n_k=0}^{n_{k-1}-1} (N+1+k)_{N-n_1} (n_1+k-1)_{n_1-1-n_2} \\
 &\quad \times \dots \times (n_{k-1}+1)_{n_{k-1}-1-n_k} a_0(n_k) \\
 &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} \dots \sum_{n_k=0}^{n_{k-1}-1} (N+1+k)_{N-n_1} (n_1+k-1)_{n_1-1-n_2} \\
 &\quad \times \dots \times (n_{k-1}+1)_{n_{k-1}-1-n_k} n_k! \\
 &= \sum_{n_1=k-1}^N \sum_{n_2=k-2}^{n_1-1} \dots \sum_{n_k=0}^{n_{k-1}-1} \frac{(N+1+k)!}{\prod_{l=1}^k (n_l+k-l+2)(n_l+k-l+1)}. \quad (2.27)
 \end{aligned}$$

Therefore, we obtain the following theorem

**Theorem 2.1. (Fundamental identity)**

For  $N \in \mathbb{N}$ , we have

$$N!F^{N+1} = (-1)^N \sum_{k=0}^N a_k(N)(1+t)^k F^{(k)},$$

where  $a_0(N) = N!$ ,  $a_N(N) = 1$ , and

$$a_k(N) = \sum_{n_1=k-1}^{N-1} \sum_{n_2=k-2}^{n_1-1} \cdots \sum_{n_k=0}^{n_{k-1}-1} \frac{(N+k)!}{\prod_{l=1}^k (n_l + k - l + 2)(n_l + k - l + 1)}.$$

From Theorem 2.1, we note that

$$\begin{aligned} N! \left( \frac{\log(1+t)}{t} \right)^{N+1} &= (-1)^N \sum_{k=0}^N a_k(N)(1+t)^k (\log(1+t))^{N+1} (-1)^k k! \frac{1}{t^{k+1}} \\ &= (-1)^N \sum_{k=0}^N a_k(N)(1+t)^k (\log(1+t))^{N-k} (-1)^k k! \left( \frac{\log(1+t)}{t} \right)^{k+1}. \end{aligned} \quad (2.28)$$

Now, we observe that

$$\begin{aligned} &(1+t)^k (\log(1+t))^{N-k} (-1)^k k! \left( \frac{\log(1+t)}{t} \right)^{k+1} \\ &= (N-k)! k! (-1)^k \left( \sum_{l_1=0}^{\infty} \binom{k}{l_1} t^{l_1} \right) \left( \sum_{l_2=N-k}^{\infty} S_1(l_2, N-k) \frac{t^{l_2}}{l_2!} \right) \left( \frac{\log(1+t)}{t} \right)^{k+1} \\ &= (N-k)! k! (-1)^k \left( \sum_{l_3=N-k}^{\infty} \sum_{l_2=N-k}^{l_3} S_1(l_2, N-k) (k)_{l_3-l_2} \binom{l_3}{l_2} \frac{t^{l_3}}{l_3!} \right) \\ &\quad \times \left( \sum_{l_4=0}^{\infty} D_{l_4}^{(k+1)} \frac{t^{l_4}}{l_4!} \right) \\ &= (N-k)! k! (-1)^k \\ &\quad \times \sum_{n=N-k}^{\infty} \left( \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, N-k) (k)_{l_3-l_2} D_{n-l_3}^{(k+1)} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.29)$$



From (2.29), we have

$$\begin{aligned}
 & (-1)^N \sum_{k=0}^N a_k(N) (1+t)^k (\log(1+t))^{N+1} (-1)^k \frac{k!}{t^{k+1}} \\
 &= (-1)^N \sum_{k=0}^N a_k(N) (1+t)^k (\log(1+t))^{N-k} (-1)^k k! \left( \frac{\log(1+t)}{t} \right)^{k+1} \\
 &= (-1)^N \sum_{k=0}^N a_k(N) (N-k)! k! (-1)^k \\
 &\quad \times \sum_{n=N-k}^{\infty} \left( \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, N-k)(k)_{l_3-l_2} D_{n-l_3}^{(k+1)} \right) \frac{t^n}{n!} \\
 &= (-1)^N \sum_{k=0}^N a_k(N) (N-k)! k! (-1)^k \\
 &\quad \times \left\{ \sum_{n=N-k}^N \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, N-k)(k)_{l_3-l_2} D_{n-l_3}^{(k+1)} \frac{t^n}{n!} \right. \\
 &\quad \left. + \sum_{n=N+1}^{\infty} \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, N-k)(k)_{l_3-l_2} D_{n-l_3}^{(k+1)} \frac{t^n}{n!} \right\} \\
 &= \sum_{k=0}^N a_{N-k}(N) (N-k)! k! (-1)^k \sum_{n=k}^N \sum_{l_3=k}^n \sum_{l_2=k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, k)(N-k)_{l_3-l_2} \\
 &\quad \times D_{n-l_3}^{(N-k+1)} \frac{t^n}{n!} + \sum_{n=N+1}^{\infty} \left( \sum_{k=0}^N a_k(N) (N-k)! k! (-1)^{N-k} \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \binom{l_3}{l_2} \right. \\
 &\quad \left. \times \binom{n}{l_3} S_1(l_2, N-k)(k)_{l_3-l_2} D_{n-l_3}^{(k+1)} \right) \frac{t^n}{n!} \\
 &= \sum_{n=0}^N \left( \sum_{k=0}^n \sum_{l_3=k}^n \sum_{l_2=k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, k)(N-k)_{l_3-l_2} a_{N-k}(N) k! (N-k)! (-1)^k \right. \\
 &\quad \left. \times D_{n-l_3}^{(N-k+1)} \right) \frac{t^n}{n!} + \sum_{n=N+1}^{\infty} \left( \sum_{k=0}^N \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \binom{l_3}{l_2} \binom{n}{l_3} S_1(l_2, N-k)(k)_{l_3-l_2} \right. \\
 &\quad \left. \times a_k(N) D_{n-l_3}^{(k+1)} (N-k)! k! (-1)^{N-k} \right) \frac{t^n}{n!} \\
 &= N! \left\{ \sum_{n=0}^N \left( \sum_{k=0}^n \sum_{l_3=k}^n \sum_{l_2=k}^{l_3} \frac{\binom{l_3}{l_2} \binom{n}{l_3}}{\binom{N}{k}} S_1(l_2, k)(N-k)_{l_3-l_2} a_{N-k}(N) D_{n-l_3}^{(N-k+1)} \right. \right. \\
 &\quad \left. \times (-1)^k \right) \frac{t^n}{n!} + \sum_{n=N+1}^{\infty} \left( \sum_{k=0}^N \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \frac{\binom{l_3}{l_2} \binom{n}{l_3}}{\binom{N}{k}} S_1(l_2, N-k)(k)_{l_3-l_2} \right. \\
 &\quad \left. \times a_k(N) D_{n-l_3}^{(k+1)} (-1)^{N-k} \right) \frac{t^n}{n!} \Big\}.
 \end{aligned}$$

(2.30)

By (2.29) and (2.30), we get

$$\begin{aligned}
 \sum_{n=0}^{\infty} D_n^{(N+1)} \frac{t^n}{n!} &= \left( \frac{\log(1+t)}{t} \right)^{N+1} \\
 &= \sum_{n=0}^N \left( \sum_{k=0}^n \sum_{l_3=k}^n \sum_{l_2=k}^{l_3} \frac{\binom{l_3}{l_2} \binom{l_3}{l_3}}{\binom{N}{k}} S_1(l_2, k)(N-k)_{l_3-l_2} a_{N-k}(N) D_{n-l_3}^{(N-k+1)} (-1)^k \right) \frac{t^n}{n!} \\
 &+ \sum_{n=N+1}^{\infty} \left( \sum_{k=0}^N \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \frac{\binom{l_3}{l_2} \binom{l_3}{l_3}}{\binom{N}{k}} S_1(l_2, N-k)(k)_{l_3-l_2} a_k(N) D_{n-l_3}^{(k+1)} \right. \\
 &\quad \left. \times (-1)^{n-k} \right) \frac{t^n}{n!}.
 \end{aligned} \tag{2.31}$$

Therefore, by (2.31), we obtain the following theorem.

**Theorem 2.2.** *For  $n \in \mathbb{N}$ , we have*

$$D_n^{(N+1)} = \sum_{k=0}^n \sum_{l_3=k}^n \sum_{l_2=k}^{l_3} \frac{\binom{l_3}{l_2} \binom{l_3}{l_3}}{\binom{N}{k}} S_1(l_2, k)(N-k)_{l_3-l_2} a_{N-k}(N) D_{n-l_3}^{(N-k+1)} (-1)^k$$

where  $0 \leq n \leq N$ . For  $N+1 \leq n$ , we have

$$D_n^{(N+1)} = \sum_{k=0}^N \sum_{l_3=N-k}^n \sum_{l_2=N-k}^{l_3} \frac{\binom{l_3}{l_2} \binom{l_3}{l_3}}{\binom{N}{k}} S_1(l_2, N-k)(k)_{l_3-l_2} a_k(N) D_{n-l_3}^{(k+1)} (-1)^{n-k}.$$

From Theorem 2.1, we have

$$\begin{aligned}
 N! \left( \frac{\log(1+t)}{t} \right)^{N+1} &= (-1)^N (\log(1+t))^{N+1} \sum_{k=0}^N a_k(N) (1+t)^k F^{(k)} \\
 &= (-1)^N (\log(1+t))^{N+1} \sum_{k=0}^N a_k(N) (1+t)^k \left( \frac{d}{dt} \right)^k \left( \frac{\log(1+t)}{t} \cdot \frac{1}{\log(1+t)} \right).
 \end{aligned} \tag{2.32}$$

As is well known, the Bernoulli numbers of the second kind are defined by the generating function to be

$$\frac{t}{\log(1+t)} = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}. \tag{2.33}$$

We note that

$$\begin{aligned}
 & \left(\frac{d}{dt}\right)^k \left(\frac{\log(1+t)}{t} \cdot \frac{1}{\log(1+t)}\right) \\
 &= \left(\frac{d}{dt}\right)^k \left(\frac{1}{\log(1+t)} + \sum_{m=0}^{\infty} \frac{D_{m+1}}{m+1} \cdot \frac{t^m}{m!} \cdot \frac{t}{\log(1+t)}\right) \\
 &= \left(\frac{d}{dt}\right)^k \left\{ \frac{1}{\log(1+t)} + \left(\sum_{m=0}^{\infty} \frac{D_{m+1}}{m+1} \cdot \frac{t^m}{m!}\right) \left(\sum_{l=0}^{\infty} b_l \frac{t^l}{l!}\right) \right\} \\
 &= \left(\frac{d}{dt}\right)^k \left(\frac{t}{\log(1+t)} \cdot \frac{1}{t} + \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \frac{D_{m+1}}{m+1} b_{n-m}\right) \frac{t^n}{n!}\right).
 \end{aligned} \tag{2.34}$$

From (2.33) and (2.34), we have

$$\begin{aligned}
 & \left(\frac{d}{dt}\right)^k \left(\frac{\log(1+t)}{t} \cdot \frac{1}{\log(1+t)}\right) \\
 &= \left(\frac{d}{dt}\right)^k \left\{ \sum_{n=0}^{\infty} \frac{b_{n+1}}{n+1} \cdot \frac{t^n}{n!} + \frac{1}{t} + \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \frac{D_{m+1}}{m+1} b_{n-m}\right) \frac{t^n}{n!} \right\} \\
 &= \sum_{n=0}^{\infty} \frac{b_{n+1+k}}{n+1+k} \cdot \frac{t^n}{n!} + (-1)^k k! \frac{1}{t^{k+1}} + \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n+k} \binom{n+k}{m} \frac{D_{m+1}}{m+1} b_{n+k-m}\right) \frac{t^n}{n!}.
 \end{aligned} \tag{2.35}$$

By (2.35), we get

$$\begin{aligned}
 & (1+t)^k (\log(1+t))^{N+1} F^{(k)} \\
 &= (\log(1+t))^{N+1} \left(\sum_{l_1=0}^{\infty} \binom{k}{l_1} t^{l_1}\right) \\
 &\times \left\{ \sum_{l_2=0}^{\infty} \left(\sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m} + \frac{b_{l_2+1+k}}{l_2+1+k}\right) \frac{t^{l_2}}{l_2!} + (-1)^k k! \frac{1}{t^{k+1}} \right\} \\
 &= (\log(1+t))^{N+1} \\
 &\times \left\{ \sum_{l=0}^{\infty} \left(\sum_{l_2=0}^l \sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m} \binom{k}{l-l_2} \binom{l}{l_2} + \sum_{l_2=0}^l \frac{b_{l_2+1+k}}{l_2+1+k} \binom{k}{l-l_2} \binom{l}{l_2}\right) \frac{t^l}{l!} \right\} \\
 &+ (-1)^k (N+1)! \sum_{n=N-k}^{\infty} \left\{ \sum_{l_3=N-k}^n \binom{k}{n-l_3} \binom{n}{l_3} \frac{S_1(l_3+k+1, N+1)}{(l_3+k+1) \binom{l_3+k}{l_3}} \right\} \frac{t^n}{n!}
 \end{aligned}$$

$$\begin{aligned}
&= (N+1)! \left( \sum_{l_4=N+1}^{\infty} S_1(l_4, N+1) \frac{t^{l_4}}{l_4!} \right) \left( \sum_{l=0}^{\infty} \left( \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m}(k)_{l-l_2} \binom{l}{l_2} \right. \right. \\
&\quad \left. \left. + \sum_{l_2=0}^l \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} \binom{l}{l_2} \right) \frac{t^l}{l!} \right) \\
&\quad + (-1)^k (N+1)! \sum_{n=N-k}^{\infty} \left\{ \sum_{l_3=N-k}^n (k)_{n-l_3} \binom{n}{l_3} \frac{S_1(l_3+k+1, N+1)}{(l_3+k+1) \binom{l_3+k}{l_3}} \right\} \frac{t^n}{n!} \\
&= (N+1)! \sum_{n=N+1}^{\infty} \left\{ \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m}(k)_{l-l_2} S_1(n-l, N+1) \binom{l}{l_2} \right. \\
&\quad \left. \times \binom{n}{l} \right\} \frac{t^n}{n!} + (N+1)! \sum_{n=N+1}^{\infty} \left( \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} \binom{l}{l_2} \binom{n}{l} \right. \\
&\quad \left. \times S_1(n-l, N+1) \right) \frac{t^n}{n!} + (-1)^k (N+1)! \sum_{n=N-k}^{\infty} \left\{ \sum_{l_3=N-k}^n (k)_{n-l_3} \binom{n}{l_3} \right. \\
&\quad \left. \times \frac{S_1(l_3+k+1, N+1)}{(l_3+k+1) \binom{l_3+k}{l_3}} \right\} \frac{t^n}{n!} \\
&= (N+1)! \sum_{n=N+1}^{\infty} \left\{ \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m}(k)_{l-l_2} S_1(n-l, N+1) \binom{l}{l_2} \right. \\
&\quad \left. \times \binom{n}{l} + \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} \binom{l}{l_2} \binom{n}{l} S_1(n-l, N+1) \right\} \frac{t^n}{n!} \\
&\quad + (-1)^k (N+1)! \sum_{n=N-k}^{\infty} \left\{ \sum_{l_3=N-k}^n (k)_{n-l_3} \binom{n}{l_3} \frac{S_1(l_3+k+1, N+1)}{(l_3+k+1) \binom{l_3+k}{l_3}} \right\} \frac{t^n}{n!}. \tag{2.36}
\end{aligned}$$

From (2.36), we have

$$\begin{aligned}
&(-1)^N (\log(1+t))^{N+1} \sum_{k=0}^N a_k(N) (1+t)^k F^{(k)} \\
&= (-1)^N \sum_{k=0}^N a_k(N) \\
&\quad \left\{ (N+1)! \sum_{n=N+1}^{\infty} \left( \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m}(k)_{l-l_2} S_1(n-l, N+1) \binom{l}{l_2} \right. \right.
\end{aligned}$$

$$\begin{aligned}
 & \times \binom{n}{l} + \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} S_1(n-l, N+1) \binom{l}{l_2} \binom{n}{l} \frac{t^n}{n!} \\
 & + (-1)^k (N+1)! \sum_{n=N-k}^{\infty} \left( \sum_{l_3=N-k}^n (k)_{n-l_3} \binom{n}{l_3} \frac{S_1(l_3+k+1, N+1)}{(l_3+k+1) \binom{l_3+k}{l_3}} \right) \frac{t^n}{n!} \Big\} \\
 = & (N+1)! \sum_{n=N+1}^{\infty} (-1)^N \sum_{k=0}^N a_k(N) \left( \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} \frac{D_{m+1}}{m+1} b_{l_2+k-m} (k)_{l-l_2} \binom{l}{l_2} \right) \\
 & \times \binom{n}{l} S_1(n-l, N+1) + \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} S_1(n-l, N+1) \\
 & \times \binom{l}{l_2} \binom{n}{l} \frac{t^n}{n!} + (N+1)! \sum_{k=0}^N a_k(N) (-1)^{N-k} \sum_{n=N-k}^{\infty} \left( \sum_{l_3=N-k}^n (k)_{n-l_3} \binom{n}{l_3} \right) \\
 & \times \frac{S_1(l_3+k+1, N+1)}{(l_3+k+1) \binom{l_3+k}{l_3}} \frac{t^n}{n!} \\
 = & (N+1)! \sum_{n=N+1}^{\infty} \left\{ (-1)^N \sum_{k=0}^N \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} a_k(N) \frac{D_{m+1}}{m+1} b_{l_2+k-m} (k)_{l-l_2} \right. \\
 & \times S_1(n-l, N+1) \binom{l}{l_2} \binom{n}{l} + (-1)^N \sum_{k=0}^N \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l a_k(N) \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} \\
 & \times \binom{l}{l_2} \binom{n}{l} S_1(n-l, N+1) \Big\} \frac{t^n}{n!} + (N+1)! \sum_{k=0}^N a_{N-k}(N) (-1)^k \\
 & \times \left\{ \sum_{n=k}^N \left( \sum_{l_3=k}^n (N-k)_{n-l_3} \binom{n}{l_3} \frac{S_1(l_3+N-k+1, N+1)}{(l_3+N-k+1) \binom{l_3+N-k}{l_3}} \right) \frac{t^n}{n!} \right. \\
 & \left. + \sum_{n=N+1}^{\infty} \left( \sum_{l_3=k}^n (N-k)_{n-l_3} \binom{n}{l_3} \frac{S_1(l_3+N-k+1, N+1)}{(l_3+N-k+1) \binom{l_3+N-k}{l_3}} \right) \frac{t^n}{n!} \right\} \\
 = & (N+1)! \sum_{n=N+1}^{\infty} \left\{ (-1)^N \sum_{k=0}^N \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} a_k(N) \frac{D_{m+1}}{m+1} b_{l_2+k-m} (k)_{l-l_2} \right. \\
 & \times S_1(n-l, N+1) \binom{l}{l_2} \binom{n}{l} + (-1)^N \sum_{k=0}^N \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l a_k(N) \frac{b_{l_2+1+k}}{l_2+1+k} (k)_{l-l_2} \\
 & \times \binom{l}{l_2} \binom{n}{l} S_1(n-l, N+1) + \sum_{k=0}^N \sum_{l_3=k}^n a_{N-k}(N) (-1)^k (N-k)_{n-l_3} \binom{n}{l_3} \Big\}
 \end{aligned}$$

$$\begin{aligned} & \times \frac{S_1(l_3 + N - k + 1, N + 1)}{(l_3 + N - k + 1) \binom{l_3 + N - k}{l_3}} \left\} \frac{t^n}{n!} + (N + 1)! \sum_{n=0}^N \left( \sum_{k=0}^n \sum_{l_3=k}^n a_{N-k}(N) (-1)^k \right. \\ & \times (N - k)_{n-l_3} \binom{n}{l_3} \frac{S_1(l_3 + N - k + 1, N + 1)}{(l_3 + N - k + 1) \binom{l_3 + N - k}{l_3}} \left. \right) \frac{t^n}{n!}. \end{aligned} \tag{2.37}$$

By (2.1), we set

$$N! \left( \frac{\log(1+t)}{t} \right)^{N+1} = N! \sum_{n=0}^{\infty} D_n^{(N+1)} \frac{t^n}{n!}. \tag{2.38}$$

Therefore, by Theorem 1, (2.32) (2.37) and (2.38), we obtain the following theorem.

**Theorem 2.3.** *Let  $N \in \mathbb{N}$ ,*

(1) *For  $0 \leq n \leq N$ , we have*

$$\begin{aligned} D_n^{(N+1)} &= (N + 1) \sum_{k=0}^n \sum_{l_3=k}^n a_{N-k}(N) (-1)^k (N - k)_{n-l_3} \binom{n}{l_3} \\ &\times \frac{S_1(l_3 + N - k + 1, N + 1)}{(l_3 + N - k + 1) \binom{l_3 + N - k}{l_3}}. \end{aligned}$$

(2) *For  $n \geq N + 1$ , we have*

$$\begin{aligned} \frac{D_n^{(N+1)}}{N + 1} &= (-1)^N \sum_{k=0}^N \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l \sum_{m=0}^{l_2+k} a_k(N) \frac{D_{m+1}}{m + 1} b_{l_2+k-m}(k)_{l-l_2} \binom{l}{l_2} \binom{n}{l} \\ &\times S_1(n - l, N + 1) + (-1)^N \sum_{k=0}^N \sum_{l=0}^{n-N-1} \sum_{l_2=0}^l a_k(N) \frac{b_{l_2+1+k}}{l_2+1+k}(k)_{l-l_2} \binom{l}{l_2} \binom{n}{l} \\ &\times S_1(n - l, N + 1) + \sum_{k=0}^N \sum_{l_3=k}^n a_{N-k}(N) (-1)^k (N - k)_{n-l_3} \binom{n}{l_3} \\ &\times \frac{S_1(l_3 + N - k + 1, N + 1)}{(l_3 + N - k + 1) \binom{l_3 + N - k}{l_3}}. \end{aligned}$$

**References**

1. A. Bayad, T. Kim, *Higher recurrences for Apostol-Bernoulli-Euler numbers*, Russ. J. Math. Phys. 19 (2012), no. 1, 1-10.
2. B. S. El-Desouky, A. Mustafa, *New results on higher-order Daehee and Bernoulli numbers and polynomials*, Adv. Difference Equ. 2016, 2016:32, 21 pp
3. T. Kim, D. S. Kim, *A note on nonlinear Changhee differential equations*, Russ. J. Math. Phys. 23 (2016), no. 1, 88-92

4. T. Kim, O. Herscovici, T. Mansour, S.-H. Rim, *Differential equations for  $(p,q)$ -Touchard polynomials*, Open Math. 14 (2016), 908-912.
5. T. Kim, D. S. Kim, L.-C. Jang, H.-I. Kwon, J.-J. Seo, *Differential equations arising from Stirling polynomials and applications*, Proc. Jangjeon Math. Soc. 19 (2016), no. 2, 199-212.
6. H. I. Kwon, T. Kim, J.-J. Seo, *A note on Daehee numbers arising from differential equations*, Global Journal of Pure and Applied Mathematics, 12(2016), no. 3 2349-2354.
7. J. J. Seo, T. Kim, *Some identities of symmetry for Daehee polynomials arising from  $p$ -adic invariant integral on  $Z_p$* , Proc. Jangjeon Math. Soc. 19 (2016), no. 2, 285-292.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* gwjang@kw.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* tkkim@kw.ac.kr